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Change the integral [ foz frz r3dzdrdf from

cylindrical to Cartesian coordinates:

2 V4—-x2 (2
(A |, f_w_xxz fJx2+y2\/x2 + y? dzdydx

Va—x2
(B) f_22 fO = fjm(xz -+ yz)dzdydx

(©) f f\/4 x2 fﬁz_,_yz(x +y )2 dZdydx

Va-x2 3
(D) f_zz fo o fjm(xz + v%)z dzdydx

® [f ”{4 - iz ) ‘/j%(x2+y2)dzdydx

‘ Time left 0:59:54 ‘
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4x? tan® y

Let f(x,y) = . Then lim f(x,y)

x2+2y? (x,y)—(0,0)

A)  does not exist since if (x, y) approaches (0,0) along the line x = 0 the limit is
0 and if (x,y) approaches (0,0) along the curve x = y the limit is 2.

_ 0. . .
B) does not exist since Sisan indeterminate form.

4x¥tan®y
x*+2y°

C) exists and equals 0 by using Squeeze Theorem since 0 < < 4tan®y

and lim 4tan?y = 0.
(x.¥)—(0,0)

D) does not exist since if (x, y) approaches (0,0) along the line x = 2 the limit is
0 andif (x,y) approaches (0,0) along the line y = 3 the limit is co.

E) exists and equals 0 since f(x,y) approaches (0,0) along any line of the form
y = mx thelimitis 0.
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The volume of the solid region enclosed by the plane
2x + 3y + 2z =120 , the cylinder y = x?, and

the planes y =9 ,z = 0,x = 0, in the first octant is:

(A) .[03 ffz 1-0120+2x+3y dzdydx

(B) J-03 f; f0120—2x—3y PR
(C) J’-_33 Jﬂ-:'z f0120—2x—3y dzdydx
2 —2y—

(E) J‘03 ij f0120—2x—3y dzdydx

Time left 0:49:51
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To maximize and minimize f(x,y) = e *Y ,subject to the constraint
x% + 4y* = 1 we need to solve these Lagrange equations:

(A)

(B)

(©)

(D)

(E)

—ye XY = 81y
—xe ™ = 2Ax
x*+4y* =1
—ye*Y = 2]x
—xe* = 81y
x2+4y? =1
~yeT* = 2Ax
—xe XY = 8Ay
x2 +4y? =1
ye Y = 2Ax
xe ™ = 8y
x2+4y* =1
e~ = Ax?

e X = 41y?

x2+4y? =1

Time left 0:45:34
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The value of this integral f_zz

(A) 3
(B) =@
©) 3
(D) 27
(B) 0

0

_fJE:;E x2

x2+y?

dydx

is:

Time left 0:40:59
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The Directional derivative of the function f(x, y) = In(x® + y®) at

(1, — 1) in the direction of the unit vector that makes an angle

3; with the positive x — axis.

A) 2v2.
B) —2v2.
C) 42
D) —4v2.
E) 3V2.

Time left 0:28:18
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The equation p* = sec2 ¢, is:

(A) ahyperboloid of one sheets.

(B) a hyperboloid of two sheet.

(C) ~ a paraboloid.

(D) ahyperbolic paraboloid.

(E) acone.

Time left 0:16:12
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Change the integral

2 Va-x2 ,\J16—x2-y2

f f f sin+/x2 + y2 + z2 dzdydx
-2J—V4—x2J [3x2+3y2

from Cartesian to spherical coordinates:

(A) f& fozn f; p?sinpsing dpdpdo

(B) _[DZH JEJ'; p?cos psing dpdopdf
(C) fon J¢ f; p? sin psin ¢ dpdpd6
(D) fnzn J¢ _f; p? sin p sin @ dpdpd®

(E) fozn g f; p? sin p sin @ dpdpd6

Time left 0:15:28
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Let @ and b be two vectors such that ||d@ || = 2, |
@ — 2b || = V0. Then b - @ equals

A) 16

B) 10
C) 22
D) 5

E) 25

E”:Sand

Time left 0:10:37




Question “

Not yet
answered

Marked out of
3.00

T Flag
guestion

The point of intersection between the plane P: x + 2y + 6z
andthelineL:x =8+6t, y=-2t,z=1+tis

A) (2, 2,0).

B) (—4,—4,3).
) (10,—2,0).
D) (40,— 8,—3).

E) (8, 8,-3).

Time left 0:07:47
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let C;:74(t)=(3—1t, t—2, t?) and C,: Th(k) =(k, 1 —k, k?* + 3) be

two curves intersect at the point P(1,0,4). Then the following vector 7 is
perpendicular to both of the tangent lines of C; and C, at P(1,0,4).

A)

B)
C)
D)

E)

7=(26-2).
7 = (6,6,0).

il = (10,6, ~2).
7 = (—6,6,0).
7 = (8,8, 0).




Question ]4

Not yet
answered

Marked out of
3.00

¥ Flag
guestion

The curvature of the function y = cos 3x is

—-9cos 3x

(A)

3
(14+9sin? 3x)2

3|sin 3x|

(B) 5
(1+9 cos? 3x)2

(C) 9cos3x
(149 sin? 3x)%

(D) 9|cos 3x|

3
(14+9sin? 3x)2

9|cos 3x|

Time left 0:02:11

(E)

3
(1-9sin? 3x)2
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f(:nsf:;, f(x,y)dxdy , when we reverse the order of
integration, we will get:

(A) L5 1" f (o, y)dydx

B) [ " y)dydx
©  J" [LF (o y)dydx

@) 7" Fxy)dydx

® [ f(xy)dydx
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(A)

(B)

(€)

(D)

(E)

z+In z

2y

2y
Z+lnz

z+Inz

Time left 0:00:22




— y“-xInz then ox is: Time left 0:00:13
z ’ ay )
2y
(A) z—-Inz
Z+In z
B —
B) -=
Z+1n z
© =
2y
(D) Z+Ilnz
2y
(E)




